Student paragraphs evaluated 12/10/2018

TASK: Problematizing a topic. The mistaken notion(s) that James Cook discovered Australia, and that he was a captain when he did so, and more besides.

Student text 1:

Who really discovered Australia? For the majority of people, the first to reach this territory was the English Captain James Cook. However, this is actually false since the first to arrive in Australia were the Chinese in 1432.
James Cook was neither the first European to arrive there: the Dutch explored Australia 150 years before him. Moreover, the first Englishman to navigate to this place was William Dumpier in 1688.
Finally, in 1769, almost a century later, the Lieutenant James Cook traveled around the Australian cost and discovered a place he called Botany Bay because the flowers there were so wonderful.

[bookmark: _GoBack]Comment This is NOT organized as a paragraph should be organized. Let’s fix this first. Here the six sentences are organized as a paragraph which develops the topic sentence fluently: 

Who really discovered Australia? For the majority of people, the first to reach this territory was the English Captain James Cook. However, this is actually false since the first to arrive in Australia were the Chinese in 1432. James Cook was neither the first European to arrive there: the Dutch explored Australia 150 years before him. Moreover, the first Englishman to navigate to this place was William Dumpier in 1688. Finally, in 1769, almost a century later, the Lieutenant James Cook traveled around the Australian cost and discovered a place he called Botany Bay because the flowers there were so wonderful.	Comment by Swain Elizabeth: TOPIC SENTENCE 	Comment by Swain Elizabeth: Signalling problematization	Comment by Swain Elizabeth: Further problematization

Language check The English is fluent, but there are some issues here with (in this order): punctuation (P - two commas missing), word order (wo), tense (T – the correction to past perfect is preferable, but not necessary), preposition (Prep), spelling (twice), choice of marker:

For the majority of people, the first to reach this territory was the English Captain James Cook. However, this is actually false, since the first to arrive in Australia were the Chinese in 1432. Nor was James Cook was neither the first European to arrive there: the Dutch had explored Australia 150 years before him. Moreover, the first Englishman to navigate to this place was William Daumpier in 1688. FinallyIt was not until, in 1769, almost a century later, that the Lieutenant James Cook traveled around the Australian coast and discovered a place he called Botany Bay, because the flowers there were so wonderful.	Comment by Swain Elizabeth: This is US spelling (UK: travelled). You can use either US or UK English spelling, but make sure you are consistent, i.e. that you use ONE spelling system only. 

Student text 2 

Who really discovered Australia? Many of us would say that it was leftenant James Cook that first got there, but it is not right. Actually, the first men that reached the island were the Chinese in 1432. After them, the Dutch arrived in 17th century. However, they were not the last to land before James Cook. In fact, another English man, William Dampier, preceded him. James Cook only arrived in Australia in 1770.

Comment. This text successfully uses markers (but, actually, however, in fact) to signal the oppositions between the common wisdom about the ‘discovery’ of Australia. There are a few minor language issues (SP, WO, REF. ART), but they do not impede fluency. And the content could, of course, have been a little further developed:

Who really discovered Australia? Many of us would say that it was leftenant lieutenant James Cook that who first got there first, but it this is not rightincorrect. Actually, the first men that who reached / to reach the island were the Chinese in 1432. After them, the Dutch arrived in the 17th century. However, they were not the last to land before James Cook. In fact, another English man, William Dampier, preceded him. James Cook only arrived in Australia in 1770. Finally, the aborigines, the indigenous inhabitants of Australia, were there before anybody else. 


TASK: write a paragraph using one of the recommendations of author and development expert Ian Goldin for action on development as the topic sentence.

Student text 1

Poor countries should learn help themselves. Rich countries, which have reached an higher level of development, should inspire poor countries doing the same. This doesn’t necessary mean that what works in a rich country will fit in another one because of the differences between cultures, economies, histories and values. Local governments should take decisions and invest money to develop their countries according to each area’s capabilities. Using their human and natural resources in the best way possible they will find their own path: it will be a difficult process, but there will be better and more long-lasting results, not only in the economic field but also in the political and social ones. 

Comment This is organized as a paragraph and coheres because all the component sentences are related to the idea expressed in the topic sentence. However, the topic sentence leads us to expect a justification for this claim: reasons why poor countries should help themselves. In the third sentence, we have an unexpected problematization (‘this doesn’t necessarily mean that ..’). The relatedness of this idea would be clearer if it was linked to the following sentence using a colon (:), as below. The idea of specificity of development needs is followed by a return to recommendations about the form which self-help will take, and the benefits that self-help will bring. The pronoun ‘they’ in the penultimate sentence (‘they will find their own path’) should be substituted with its referent (‘developing countries’), so that its reference is clear.

 Poor countries should learn help themselves. Rich countries, which have reached an higher level of development, should inspire poor countries doing the same. This doesn’t necessary mean that what works in a rich country will fit in another one because of the differences between cultures, economies, histories and values: local governments should take decisions and invest money to develop their countries according to each area’s capabilities. Using their human and natural resources in the best way possible, developing countries will find their own path. It will be a difficult process, but there will be better and more long-lasting results, not only in the economic field but also in the political and social ones. 	Comment by Swain Elizabeth: Topic sentence	Comment by Swain Elizabeth: Recommendation	Comment by Swain Elizabeth: Problematization (not here, I feel)

Language check The English is fluent, but there are some issues here with: verb form (vb), punctuation (P), article (Art), wrong word (ww) and reference (Ref):

Poor countries should learn to help themselves. Rich countries, which have reached an higher level of development, should inspire poor countries to doing the same. This doesn’t necessarilyy mean that what works in a rich country will fit in another, one because of the differences between cultures, economies, histories and values: l. Local governments should take decisions and invest money to develop their countries according to each area’s capabilities. Using their human and natural resources in the best way possible they developing countries will find their own path.. Iit will be a difficult process, but there will be better and more long-lasting results, not only in the economic field but also in the political and social ones. 	Comment by Swain Elizabeth: This is one complex nominal group, so no need for commas	Comment by Swain Elizabeth: The two ideas are better linked in one sentence, for the sake of coherence

